Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

2 240390607 | Refrigerator door gasket (black)

4 240363707 | Refrigerator door bin

7 240338313 | Refrigerator dairy bin cover

13 240581905 | Refrigerator door stop (black)

15 241534528 | Refrigerator door

15 240451995 | Refrigerator complete door

18 218762703 | Refrigerator door handle (black)
21A | 240598401 |Refrigerator freezer door handle screw
21C 218781100 | Refrigerator screw

22 40328203 | Refrigerator door hinge bushing
22B 240328404 | Refrigerator door hinge bearing (black)

37 218811620 | Refrigerator freezer door handle trim, upper
37A | 218811617 | Refrigerator door handle trim (black)
37A | 215782300 |Refrigerator door handle trim

49 240324509 | Refrigerator door gallon bin




AUtOrizdo
-V

Venta de Refacciones

r

D\str'\buido

Refrigerador W.W. WRS23MF5ASE

SurtzRap

Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
2 241510603 | Refrigerator basket trim
11 240338801 | Refrigerator wire shelf
11A | 240338703 |Refrigerator shelf
24 240355234 | Refrigerator shelf
24A 40355237 | Spill-safe shelf
24B 240350121 | Refrigerator spill-safe
25 240354502 | Refrigerator drawer cover
25A | 240354602 | Refrigerator crisper drawer cover
26 240354712 | Refrigerator crisper drawer
26A 240351104 | Refrigerator damper
27 240354813 | Refrigerator crisper drawer
39 240430705 | Refrigerator shelf trim
39A 240430701 | Refrigerator shelf trim, front
42 240356501 | Refrigerator deli drawer hanger
42A 40349701 | Refrigerator drawer slide rail
42A 240356701 | Meat seal
42A 240350001 | Refrigerator deli drawer slide rail spring
42A 240349901 | Refrigerator deli drawer hanger
47 240443316 | Refrigerator insert
47A 240350614 | Refrigerator crisper drawer cover glass insert
49 240530401 | Refrigerator freezer basket
49B 240530501 | Refrigerator freezer basket, upper
51 240343002 | Refrigerator freezer basket support rail
52 240343102 | Refrigerator freezer basket support rail
62 240355511 | Refrigerator meat pan
81 308016566 | Refrigerator screw, #8-15 x 0.625-in
97 240545303 | Refrigerator water reservoir




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

100 240326301 | Refrigerator water reservoir cover

101 218493100 | Refrigerator drawer slide rail screw

123 215005100 | Refrigerator screw

126 218867406 | Refrigerator auger mounting channel, right
126 218867405 | Refrigerator auger mounting channel, left
140 240430501 | Refrigerator water line cover




D-\Smbuidor Autoriz %
i | frigerador W.W. WRS23MF5AS
Surlaﬂﬂﬂ UG Refrigerador W.W. WRS23MF5ASE

Venta de Refacciones
) Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
1 240333602 | Refrigerator condenser coil
3 218679606 | Refrigerator control block evaporator
4 218944001 |Refrigerator filter dryer
6 241527401 | Refrigerator wire harness
6 41586801 |Refrigerator wire harness
14 5303918253 | Refrigerator defrost heater
15 5303918286 | Refrigerator evaporator
16 5308000110 | Refrigerator strap
21 5303918214 | Refrigerator defrost bi-metal thermostat
22 240330007 | Refrigerator compressor base
23 218513300 | Refrigerator compressor grommet
25 240491501 | Freezer compressor mounting bolt
26 240332602 | Refrigerator drain pan
29 5303918303 | Refrigerator and freezer compressor kit
30 241524604 | Refrigerator compress
32 240553401 | Clamp,elecc
34 240405201 | Refrigerator condenser coil grommet
41 240555001 | Refrigerator screw, #8-32-in
44 215174700 | Refrigerator wire harness clamp
45 5308016566 | Refrigerator screw, #8-15 x 0.625-in
55 218909913 | Refrigerator run capacitor
57 240542601 |Refrigerator wire harness clip
58 218897002 | Refrigerator screw, #8-32-in
59 5304430246 | Refrigerator condenser br
60 240525401 | Refrigerator condenser fan motor assembly
61 240524101 | Refrigerator condenser fan blade
62 240429401 |Trough-dra




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
70 218990801 |Bracket evaporator
82 5304418225 | Refrigerator roller
83 5303316859 | Refrigerator roller wheel axle pin
84 5304421068 | Refrigerator drain tube
85 240553501 | Refrigerator suction line
86 240409302 | Refrigerator condenser motor spacer




Venta de Refacciones
\ Electrodomesticas

o Q!

23 i




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

2 5304428402 | Refrigerator dispenser auger

3 5304404343 | Refrigerator auger drive cam

4 218815300 | Refrigerator ice bin

6 5304404346 | Refrigerator auger drum

7 241734201 | Refrigerator ice container front cover

10 5304404337 | Refrigerator auger motor coupler

13 5304404359 | Refrigerator ice crusher housing

15 240436702 | Refrigerator light bulb

16 241559801 | Refrigerator light socket

17 5304404345 | Refrigerator ice dispenser drive blade

18 5304440392 | Refrigerator auger motor

20 5304404332 | Refrigerator auger motor cover

21 215285100 | Refrigerator auger motor coupler

23 5304404347 | Refrigerator ice crusher mounting plate, front

25 5304404362 | Refrigerator screw, #8-32-in

26 215503200 | Refrigerator screw

33 5304404351 | Refrigerator ice crusher spacer

34 5304404349 | Refrigerator ice crusher spacer
35A | 5304404353 | Refrigerator ice crusher fixed blade
35B | 5304404352 | Refrigerator ice crusher fixed blade
37A | 5304404348 | Refrigerator ice crusher first blade
37B | 5304404350 | Refrigerator ice crusher second blade
37C | 5304404356 | Refrigerator ice crusher third blade

39 5304404365 | Refrigerator screw

41 5304404358 | Refrigerator ice crusher housing

44 218359200 | Refrigerator screw




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
45 5304404333 | Refrigerator ice dispenser solenoid
45A | 5304406816 | Spring-solen
45B | 5304406817 | E-ring-solen
45C | 5304406818 | Refrigerator ice dispenser solenoid actuator
45D | 5304406819 | Refrigerator ice dispenser solenoid
46 5304404341 | Refrigerator control rod
47 5304404342 | Refrigerator ice dispenser actuator spring
48 5304404340 | Refrigerator ice dispenser actuator bracket
49 5304404880 | Refrigerator rail assembly
50 5304404334 | Refrigerator ice dispenser
51 304404336 | Refrigerator dispenser rotation stop
52 5304404354 | Refrigerator ice crusher fixed blade spacer
53 5304404355 | Refrigerator ice crusher blade block roll pin
54 5304404357 | Refrigerator auger nut
55 5304404360 | Refrigerator ice crusher washer
56 5304404361 | Refrigerator e-ring
57 5304404363 | Refrigerator ice container access door
58 5304404331 | Solenoid screw
71 241577301 | Refrigerator cover




D\stribuidor Autor %
ey ‘
Surlenﬂll

Venta de Refacciones
Electrodomesticas

Refrigerador W.W. WRS23MF5ASE

INSTALLATION PARTS




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
1 218976409 | Refrigerator water tubing
2 5304420650 | Refrigerator ice maker shut-off arm spring
3 3206299 | Refrigerator ice maker decal
4 3206301 | Refrigerator ice maker cube ejector drive gear
5 3206303 | Refrigerator ice maker cover bracket
6 206305 Refrigerator screw, #8-32 x 1/4-in
7 3206306 | Refrigerator ice maker assembly
8 3206312 | Refrigerator spacer holder
9 3206313 | Refrigerator ice maker shut-off lever cam
10 3206315 |Clamp
11 3206319 | Refrigerator ice maker thermal cut-off
12 240352601 | Refrigerator wire harness
13 3206322 | Refrigerator ice maker thermostat
14 5304420652 | Screw
15 3206324 | Refrigerator ice maker on/off switch
16 5304420653 | Support
17 5303320545 | Refrigerator ice maker
18 206328 Refrigerator ice maker cube ejector
19 3206330 |Bearing
20 5304408581 | Refrigerator screw
21 5304469378 | Refrigerator ice maker stripper arm
22 3206333 | Refrigerator ice maker shut-off arm
23 304408582 | Refrigerator ice maker mounting screw
24 206335 Refrigerator ice maker shut-off arm lever
25 3206336 | Screw
26 5304420654 | Screw-ther
27 3206338 | Screw
28 3206339 | Screw




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

29 3206323 | Refrigerator ice maker motor screw

30 3206341 | Refrigerator screw

31 3206342 | Refrigerator insulator

32 3206343 | Refrigerator ice maker fill

33 5304408583 | Refrigerator spring

34 | 5304420655 |Screw

35 5304408585 | Screw

36 3206347 | Refrigerator ice maker cover

42 303001199 | Refrigerator wire harness clamp

45 5304455650 | Refrigerator screw, #8-15 x 0.625-in
46 5303001193 | Refrigerator water tubing clamp

51 240387101 | Refrigerator water tubing

55 240531101 |Refrigerator water inlet valve assembly

60 5303207328 | Refrigerator ice maker mountin

61 218721500 | Refrigerator ice maker leveling

62 218737900 | Refrigerator screw, #8-32-in

64 5303001549 | Refrigerator water tubing clamp
#NI 240352411 | Refrigerator ice maker assembly




Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
1 240390608 | Refrigerator freezer door gasket (black)
4A 240367307 | Refrigerator freezer door bin, upper
4B 240359007 | Refrigerator freezer door shelf rail
11 240554255 | Refrigerator freezer door
11 241526743 | Refrigerator freezer door
13A | 240581906 |Refrigerator freezer door stop (black)
18 218762703 | Refrigerator door handle (black)
21A | 240598401 |Refrigerator freezer door handle screw
21C 218781100 | Refrigerator screw
22A | 240328204 |Refrigerator door closer bearing
22C 240328404 | Refrigerator door hinge bearing (black)
37 218811620 | Refrigerator freezer door handle trim, upper
37A | 215782300 | Refrigerator door handle trim
37A | 218676004 |Refrigerator door handle trim
37A | 218811617 | Refrigerator door handle trim (black)
68 241525101 | Refrigerator dispenser ice chute




D.\Smbuidor Autoriz4 do

Venta de Refacciones
Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
10 240435905 | Cover-air du
10A | 240475906 |Refrigerator evaporator cover coil, lower
11 5303208309 | Refrigerator cabinet hole plug
14 240505801 | Refrigerator light switch
14A | 215486600 |Refrigerator light switch
21C 218252200 |Refrigerator screw
22 240457702 | Refrigerator door closer plate
23 240402701 |Refrigerator screw, #10-
28 240335501 | Refrigerator roller wheel height adjuster bolt
30 240419101 | Refrigerator door adjustable hinge kit
30A | 240419102 |Refrigerator door adjustable hinge kit
37 240337603 | Refrigerator corner trim
38 240327201 |Refrigerator door hinge bracket
40 240327007 | Refrigerator door hinge cover
41 241550801 | Refrigerator freezer shelf support grommet
42 240578901 | Refrigerator screw
43 240335003 | Refrigerator roller
45 241500301 | Refrigerator lower evap
47 240349402 | Refrigerator bracket
58 218781100 | Refrigerator screw
66 5304424968 | Refrigerator pantry drawer temperature
72 240324405 | Refrigerator toe grille
81 5308016566 | Refrigerator screw, #8-15 x 0.625-in
82 5304418225 | Refrigerator roller
83 5303316859 | Refrigerator roller wheel axle pin
89 240326103 | Refrigerator compressor access cover
89 241574601 | Refrigerator compressor access cover




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

91 240380101 | Refrigerator ice maker duct

92 216850900 | Refrigerator screw

100 240423701 |Refrigerator crisper drawer cover support stud
100 240350802 | Refrigerator crisper drawer cover support stud
150 240368701 | Guide control




Refrigerador W.W. WRS23MF5ASE

AUtOrizdo
kS 2

Venta de Refacciones

D-\Smbuidor
SurtzRap

Electrodomesticas




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
1 218976409 | Refrigerator water tubing
4 5304422012 | Refrigerator dispenser assembly (black)
8 5304422013 | Refrigerator dispenser module
10 5304426649 | Refrigerator dispenser ice chute door hinge spring
14 240323945 | Refrigerator module cover label (black)
15 5304421616 | Refrigerator light bulb
16 215284900 | Refrigerator dispenser light socket
17 5304421619 | Refrigerator dispenser control board mounting
23 240323603 | Refrigerator dispenser drip tray
24 5304422026 | Refrigerator water dispenser lever (black)
24A | 5304422025 | Refrigerator dispenser ice chute funnel and lever
30 5304421628 | Refrigerator dispenser ice chute door kit
30A | 5304421624 | Refrigerator dispenser ice chute door cover
30B | 5304421625 | Refrigerator dispenser ice chute door insulation
30C | 5304421629 | Refrigerator dispenser ice chute door seal
35 5304421620 | Refrigerator dispenser ice chute door motor
36 5304421824 | Refrigerator dispenser control bracket
38 5304430812 | Refrigerator electronic control board
38A | 5304421617 | Refrigerator dispenser switch
38C | 5304430811 | Refrigerator user interface wire harness
38C | 5304430991 | Refrigerator electronic control board
39 5304421627 | Refrigerator dispenser ice chute door hinge pin
41 5304421829 | Refrigerator spring
43 215296300 | Refrigerator dispenser module screw
56 5304421830 | Refrigerator dispenser micro-switch screw




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
87 5304421622 | Refrigerator dispenser ice chute door bearing right
87A | 5304421621 | Refrigerator dispenser ice chute door bearing left
88 5304421615 | Refrigerator light shield
90 5304421831 | Refrigerator lens
91 5304421850 | Refrigerator lens




D\stribuidor Autor %
e Ve
Surlanﬂll

Venta de Refacciones
h Electrodomesticas

Refrigerador W.W. WRS23MF5ASE




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion
5 5308000010 | Refrigerator evaporator fan blade
8 215474201 | Refrigerator evaporator fan shaft washer
9 241563601 | Refrigerator evaporator motor mount bushing
13 240369701 | Refrigerator evaporator fan motor
13 240369702 | Refrigerator evaporator fan motor
14 241517701 | Refrigerator evaporator fan motor bracket, rear
15 240436702 | Refrigerator light bulb
16 241513901 | Refrigerator light socket
18 240360801 | Refrigerator temperature control knob
21 241586501 | Refrigerator temperature control thermostat
21A | 5304421067 | Refrigerator freezer temperature control thermost
22 218660702 | Refrigerator temperature sensor cover
23 241508001 | Refrigerator adaptive defrost control board kit
53 240369501 | Refrigerator electronic control board housing
81 5308016566 | Refrigerator screw, #8-15 x 0.625-in
101 218493100 | Refrigerator drawer slide rail screw
115 241600902 | Refrigerator air damper control assembly
115 241546902 | Refrigerator air damper control assembly
137 240396701 | Refrigerator water filter bypass
138 240397301 |Refrigerator water filter release button
139 240526901 | Refrigerator o-ring
139 240396002 | Refrigerator water filter head
139 240396001 | Refrigerator water filter head
149 241528302 | Refrigerator fan shroud seal
149 241563401 |Shroud assembly




Refrigerador W.W. WRS23MF5ASE

Guia N.P. Descripcion

150 240394203 | Refrigerator insulation

151 240373805 | Refrigerator water cover

198 240397401 |Refrigerator water filter rod retainer
199 240397501 | Refrigerator water filter bypass valve
199 240398401 | Refrigerator filter spring

200 240397601 | Refrigerator light pipe

201 240398506 | Refrigerator label




